FINGERLESS FACTS:

Addition

¥

This math facts test book belongs to

Book Design © 2003 Mark Powell






Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

out of only problems

Accuracy:

3 (¢]
attempted

Level A
(Sums to 5; 20 Problems)

2 | 3 4 3

+ 3 + 2 + 1 + 1 + 2

] 2 5 | 2

+ 3 + 2 +0 + 4 +0
1+1= 2+ 1= 4+0-= 3+2= 0+0=
0+3= 2+3= O+2= 1+0= 2+3=
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

out of those pro

Accuracy:

3 (¢]
blems attempted

Level B, Test 2

(Sums to 10; 20 Problems)

2 3 ] S 4

+ 2 + 2 +9 + 3 + 2

] 3 S 2 S

+ 4 + 3 + 2 + 4 + 5
4+3= 6+2= 1+1= 2+3= 8+ 1=
6+ 4= 7+0= 5+ 4= 4+ 4= 4+5=
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

out of those pro

Accuracy:

3 (¢]
blems attempted

Level B, Test 4

(Sums to 10; 20 Problems)

1 / 3 / 1

+ 5 + 2 +5 + ] + 2

3 2 9 / 6

+ 4 + 7/ +0 + 3 + 3
2+8= 6+ 1= SO+ 1= 2+5= 8+2=
9+1= 3+7= 4+6= 2+6= 3+6=
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Date:

Time Started:

Time Stopped:

# Aftempted:

Score:

out of those pro

Accuracy:

3 (¢]
blems attempted

Level C, Test 1

(Sums to 18; 20 Problems)

3 7/ 9
+ 3 + 9 + 2
6 9 2
+ 2 + 8 + 7

9+3=

4+ =

8+38

/+7
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Time Started:

Time Stopped:

# Aftempted:

Score:

out of those pro

Accuracy:

3 (¢]
blems attempted

Level C, Test 3

(Sums to 18; 20 Problems)

/ 38 2
+8 +5 + 6
? ? 3
+ 6 + 7/ + 5

6+3=

?2+9

7+ 4=

3+7
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Time Started:

Time Stopped:

# Aftempted:

Score:

out of those pro

Accuracy:

3 (¢]
blems attempted

Level C, Test 5

(Sums to 18; 20 Problems)

S 6 /
+ 8 + 3 + 4
4 3 2
+9 +9 +9

2+5=

6+9

4+6=

/+7
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
123 | s
Level D, Test 1

(Sums to 18; 25 Problems)
3 / 9 8 2
+5 + 2 + 6 +5 + 8
7+3= 6+ 4= 6+8= 7+5= 9+3=
3 8 4 3 S
+ 6 + 7/ + 4 + 7/ + 5
8+3= 2+5= 4+2= S+ /= 8+9 =
2 S / 4 6
+7 + 3 +9 +8 + 2
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
123 | s
Level D, Test 3
(Sums to 18; 25 Problems)
2 4 S / 2
+ 6 + 9 + 8 + 6 + 4
3+3= 4+3= 6+ 4= 8+9 = 6+9=
2 9 3 S 6
+ 8 +7/ + 6 +5 + 8
S+ /= /+2= 9+ 4= 4+6= 8+7/ =
9 / 9 2 S
+ 8 +7/ + 6 +5 +9
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
123 | s
Level D, Test 5
(Sums to 18; 25 Problems)
9 8 6 3 2
+5 + 2 +7 +9 +7
5+3= 4+9 = 8+5= 2+5= 3+6=
4 5 7 2 4
+ 3 + 4 + 8 + 9 + 2
6+9 = /+2= 2+7 = 4+6= S+ 5=
6 / / 3 4
+5 +7/ + 6 + 8 +5
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
A P
Level E, Test 2
(Sums to 18; 30 Problems)
] 3 6 9 4 S
+ 8 + 3 + 2 + 6 +7 +7
9+4= 3+8= 2+3= 6+5= 8+4= /+6=
3 5 ? ] 2 8
+ 5 + 2 + 2 + 4 + 7/ + 8
/+9= 8+6= 7+3= 2+ 5= 4+3= 5+ 4=
6 ? ] 4 6 ?
+ 8 + 2 + 6 + 5 + 3 + 9
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
A P
Level E, Test 4
(Sums to 18; 30 Problems)
2 4 5 8 / 6
+8 + 6 +8 + 3 + 2 + 9
1+2= [4+2= |8+5= |3+2= |5+9=  |[4+4=
8 2 6 8 4 S
+9 + 6 + 6 + 6 +5 +7/
9+9= 7+ 4= 9+3= 3+5= 2+7 = 1+4=
9 / 4 S 8 2
+5 + 8 +9 + 3 + 8 +9
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Date: Time Started: Time Stopped: # Aftempted: Score: Accuracy:
A P
Level E, Test 6
(Sums to 18; 30 Problems)

5 2 6 8 ? 3

+ 2 +8 +5 + 6 + 2 +9

4+ 6= 1+2= |3+2= |7+5= |6+7= |2+3=
6 / 9 / 6 1

+ 3 +7/ + 6 + 3 + 2 + 8

4+ 4= 8+3= /+9 = 8+4= 1 +6= 2+2=
] 4 8 / S 3

+5 +7/ +5 +5 +7/ + 8
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RECORD OF TeST RESULTS

Date of Test Test # Time Score (_/_) Accuracy (%)
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Accuracy (% correct of problems attempted)

Graph Your Accuracy

Dates or Test Numbers
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